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D23, /NN AN USRI B R R th 82, B — S A T AT, /N TR B

BB AT, BIEE BRI 30min. /NRFF H 177 LA 300m/min By B B %6 5.
PIABAKMETE y(m) 55 B BEIT R AT E 2 (min) 2 A R ESMETR.
(1) RS E B8 6 HRRE A m, /NEGBITHIEE R m/min;

(2) RKANFRBRIHERE y KT « WRERNTR, 5 1 A X BEETER;

(3) RPIAARBEIHF A,

yim
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2000} --- A;
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. WE O, 7 AABCH ,AB = AC,5t AB I — S DYEDE // ACZZBC F A E, qu’g]’ﬁﬁ,

ED }—ifi fE 4DEF = s A, B—H EF 35 AC F& F.

(1) 3KIE: MATE ADEF Jg 4T M3 5

(2) H= D 29 AB B}, DADEF AR

(3) EKE © P DE B R 6,4 EG = DE %35 AE,AG,FG 1851E @.
# AD = AG, FIKTIUHTE AEGF ByTEAR, Fe B 38 .
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25. WM&, 7E5H ABCD ¥ ,AB = 2cm, LADB = 30° P,Q H S50 BIM A, BRINTHi %, A P
128 AB - BCiB 8, 7EAB EREEE R 2em/s , fE BC F B R 2Bem/s; 5 Q7E BD
L LA 2en/s B BE 253 DIESN. s PAEPN L AD & JE g 55 N. %48 PQ, L PQ PN
A BiatE oPQMN. BB IMETE] Y «(s) , OPQMN 5457 ABCD B4 49 EIE i
B y(em®).
(1) 3 PQ L ABB},x =
(2) 3Ry XT « B REEFITR, HF H « BEUETEME;
(3) B AM ¥ 5ETE ABCD WA 1 ¢ 3 Bidaat, EES H » 19{E.
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26. WA, EFHEABIRRT PRy = a5’ + 2ax - 3a(a <0) 5 HMAZTA,BH
Ry BAZET & C, 0 D, HL DC 5 « IR T A E.
(1) Ma =- 15, MHLRTS D AIRIRR JOE =
(2) OE AR EES o HF %, KR E i ;
(3) # £DEO = B,45° < B < 60°,3R o WBUHETEH;
(4) LADE il ,FEH 4k DE WA T R SNEE A =T PDE. X P(m,n) , HES W
n KTF m BIREUEIT R B AR m EETE L

Al 0| \B E':x
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